Eﬂs‘t’c_. ‘PW@”{"'U O'p grwes
“TAenhbies % iNVerses
h{@) E\Icrj oy has o unigue icledﬂj element.

?SLQ@ _E\ILrJ element in o ﬂr:»»( \Was o unfque inverse
é\e_mer\‘\‘.

ik Assoceahu:+7 is needed

:E‘Bf@ For o'u\j ele"\er\j&f f{/-LléG, “H‘f- iaverse 0‘[‘\ “L

(s jiwu\ \93 (ﬂ\\ﬂ—l: b

('Pr.,a&.\ B’_Caw& inverses are wnique, “® :\wslmenl + slow

Hat b §a\'iSLes the inverse f‘“’f’b Lc ab
Tadeed
(1 o) (ab) = S{a'a) = Eleb
=V')=e
V) o (Va)= (bh™)a = anea™
| - aa'=€. 7\

E@_@ Every elemend of & 3rawe is dthe iaverse element

of s invesse element (A-‘)-‘: Aa.
(’Pcovg) Bj ALQ‘V\I 0(1 (5\" )_l - e. \_&L\- M%\L\F\:M‘l"‘on Lj
A ks (aeS) (oC') = e

— ()= A 2



Cp\t\(‘e,\lw"\'ﬂ\
?ﬂ@ For f\r\3 -Cixul A/Le C} —'—L\a‘c ore wu'zuc e/ema\jw
Xy € G sack ook

\
AX=b \

jacL
KR&__T\'\(S is a (ffafos\'*fm 0\Lo-'l' -\-—\'\e 'muer-“L-'L'ﬁ u'P o

-—Tx\'\‘\\‘ o'e So\\li‘j Aﬁi———’i '(;r‘ X.
(Need( Lo‘l’L\ e’LwULi'sr\s \a/c- we  want o Q"’S‘l“&m‘ﬂo.ce
& (mx;\o\ ol (cc-a:wgdu a (3&=L)
(Proos.) We'll prave e xistence \\ Untquness L sl o qa= L
pLx»,LJ (S an exercise.
T xistence Let 4= Lac l
Tlf\u\ ja\—=(‘aof‘)a = L(&C'a)
u I = L&’—'—L Vv’
9‘\‘(& ™ \ _\_. 0\-\9 ar\cl a= L
Uniqueness - ? h g 5 “l] P j’:
—TL\U\ jlﬁ—;‘jz‘(. (ch‘/\'\-'-mw("'\{lj Lj a .
%IA‘)A—\:(jlk)k—l — - -

— 4 = 1= E2N

h@ ((e—c—\- Car\(‘e,ual‘l‘sf\) \) &,\L/C € C.)

ﬂ\b‘—O\C — L‘-‘-C.



@ (rrj\\\' Canau“l-tm) \a &,l,c € C‘)

bAT—CA —_ \a‘:.C.

Natakion

For any o € G and in‘\cjef Y\?//L)

Preg

A °: A ° A o --- 0 A
\"N\J '
n times
ﬁo - &
N -t - -\
- o A oA
o =T
N Hmes
?‘ﬁ@ \d &JLE a anol ar\:] m,n GZ

B (A= (1) wih (=2 i

IS a\oe‘\‘ar\.

/g_"‘_\i Ne\\\ ASe Mu\lri()\{c«r\{vc Y\o“\‘ad'\‘er\ ‘csr (Z/+) %
(Z. %) atat--ra=na
/ \__— -~ D>

n —\—imzs




gu\bjrow(‘)s QQCA “ )

Soln=JAeMa(R) | Ka=T § det A=
CLR)= SA € M(R)) det A#0T

No’\‘?CLX SDCV\) QCL,\([R) a;\rl ,\—Lej ule. .[—L(_ Came
g\‘wfu(t Dce»(‘Q‘LTM.
We tine oF So(n) as ~ Cesteicked set o Symm:
QLA“R) FCCSUVES V.S, SArnetnre o‘c TR'\

SO (V\) QF&C&I‘VLS VS‘ Skmc{vrc AND
or jented (E%Cl(olekn ‘3"0"'\4"7.

’D‘é—g\' A Sukﬂcme DQ o< 3(‘0‘*)(' (_G/ OG) S a jrfb-«r
(‘H/ OHj St \’\ \S (&Su\)SL'l‘ og- C mml oy s

*\-\Ae Cesdriction o'Q og e,
Ao = A%k, N aleH.

EXAM@ L:;g
\

@ Twe more Sw\bj\-o % Jﬁ CLﬂ({k) '
SL.(B) = LAEMAR)) det A= 1]

Dlm) = TACMm RI\AR=T3



(Bb-l—L\ QresCrut \LS. S-erc’t‘-r‘c/ Siace *k“l'\ej‘tc.

in QLA (R).
gLr\('f\\l\ e(“(’,gbf"f—s §l‘jﬂc0\ E"\C\fcleotr\
Votum\es oL ""D?-,—,Q{A\l wasc‘S

O(V\\ ({)rc,su'ves innec eroo[u\cjts
NS, ASS = LY,

No'\-\‘ce. ! gL,\C‘R) N O(n) = SO(n) s r\\so N
Sw\vjcou&.

© Recalls (MAR),X) is neX & geog.
(BW\‘ (N\v\“P\\, "\‘) s A jroue-

R: Ts CL®) g IR) a sbye?
No. [2%3) < GLa(IR),
Mo 3 AR with det A det B #0

Ar\\:l AQ‘I‘(A'\'B\:D,
So s net Cl°<c4 3N GL,\UR\




